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QUESTION 1

In SAP Web IDE for SAP HANA, what can a flowgraph generate in a predictive analysis scenario?
Note: There are 2 correct answers to this question.

A. Function

B. Container

C. Procedure

D. Task

Correct Answer: CD

QUESTION 2

You have imported a new calculation view in a folder that contains a .hdinamespace file. This calculation view
consumes one data source which is a table. When trying to build the calculation view, there is a namespace-related
issue and the build fails.

What could be the reason? Note: There are 2 correct answers.

A. The imported calculation view and its data source have different namespaces.

B. The name space used within the calculation view to reference the table is different from the actual namespace in the
identifier of this table.

C. The .hdinamespace file specifies a different name space property than the one in the identifier of the calculation
view.

D. The hdinamespace specifies "sub-folder": "append\\'\\', so calculation views can only be created in sub-folders.

Correct Answer: AB

QUESTION 3

What type of data is relevant for SAP HANA Graph modeling?
A. Highly-networked

B. Timeseries

C. Hierarchical data

D. Forecast

Correct Answer: A
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QUESTION 4

In text processing, where do you use the Term Document Matrix?
A. Text mining

B. Linguistic extraction

C. Fuzzy text search

D. Fact and entity extraction

Correct Answer: A

QUESTION 5

In SAP HANA Series Data, which of the following methods do you use to convert finer interval readings to a coarser
interval?

A. Vertical disaggregation
B. Horizontal disaggregation
C. Vertical aggregation

D. Horizontal aggregation

Correct Answer: D

QUESTION 6

Why does query performance decrease when the data volume of the delta storage is large?
Note: There are 2 correct answers to this question.

A. The data is unstructured.

B. The data is uncompressed.

C. The data is stored in the warm tier.

D. The data is NOT sorted.

Correct Answer: BD

QUESTION 7

You want to control parallelization in a calculation view. Which action is mandatory when you define the parallelization
block?
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A. Define a union node as the start of the parallelization block.

B. Define a projection node as the end of the parallelization block.

C. Assign tables as the only data sources in the nodes that start the parallelization block.

D. Define a source column as partitioning value in the start node of the parallelization block.

Correct Answer: C

QUESTION 8

You want to join 2 tables in a calculation view. Why do you use a non-equijoin?
A. The number of joined columns is different in both tables.

B. Join columns do not have the same datatype.

C. The join condition is not represented by matching values.

D. The cardinality is impossible to determine.

Correct Answer: C

QUESTION 9

How do you embed a decision tree in to your calculation view using a table function? Note: There are 2 correct answers
to this question.

A. Call the SAP-provided PAL decision tree procedure from the table function

B. Use dynamic SQL in the table function to generate the SQL code

C. Copy and adapt the SQL code generated by a flow graph into the table function
D. Build a flow graph and call it from the table function using input parameters

Correct Answer: CD

QUESTION 10

How can you optimize performance when writing SQL for use with calculation views?
Note: There are 2 correct answers to this question.

A. Use declarative language instead of cursors

B. Use calculation engine (CE) functions instead of plain SQL
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C. Control the flow logic using IF-THEN-ELSE conditions
D. Increase parallelization by using variables to break up statements

Correct Answer: AD

QUESTION 11

In a calculation view, where can you insert SQL code?
Note: There are 3 correct answers to this question.

A. Hierarchy

B. Filter expression

C. Calculated column expression

D. Input parameter

E. Currency conversion

Correct Answer: BCD

QUESTION 12

Why do you use the debug query mode in a calculation view?

A. To observe the generated SQL for each node

B. To highlight potential performance issues at design-time

C. To measure the overall run-time of the query

D. To check which database engines will be invoked by each node

Correct Answer: A

QUESTION 13

You are building a new calculation view B that uses calculation view A as a data source. In the Semantics node of
calculation view A, you define a mask for the first 10 digits of a 15 digit Account Number. When you preview calculation
view B, the Account Number is not masked.

Why do you see the Account Number unmasked?

A. The masking is based on the column of a row table.

B. You did not define masking in calculation view B.

C. The UNMASKED privilege for calculation view A has been granted.
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D. The Account Number is based on the Integer datatype.

Correct Answer: C

QUESTION 14

Which is the correct syntax when you refer to an input parameter in a calculation view expression?
A. $$Choose_Country$S

B. :Choose_Country

C. ..Choose_Country"

D. @Choose_Country

Correct Answer: A

QUESTION 15

In your calculation view, you need to define a custom data source using SQLScript. In which object do you write your
SQL Script?

A. Table function
B. CDS view

C. Procedure

D. Virtual Table

Correct Answer: A
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